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7. The ‘length of String A is the
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Section B

Questions 16 to 35 carry 1 mark each. Writs your ansvers
in the spaces provided. Slve  your _3Q3WErs ; Unl
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16, Which number comnes ust bafore nine million ang one
hundred thousand? Give vour ansueay in numerals.
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17, Find the value cf (100 8 = 8y = 2+ 2
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2. Mr Wong saves $380 every wonth, How much would
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The Ffigure below shows 3

and C and 2 shaded arcas of the
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trom and wimite your 3ndwers 1n

For questions 236 to 50, show yvour working cleaxrly in ti
S

space below each gue
space provided.

The number of marks availalblec 18 showan in hrackets {1 at

the end of each question ov part-cuestion.
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36. The admission fee o the 20 5 Sm o for 3 chila and
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37, Pavid, Flizabeth 2ngd Flona shars %195 =n the ratio
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40. DBdmund wants to buy the same number of appies and
pears with a $50 note. Apples cost $C.36 aach and
nears cost $0.47 each.

(a) How many pairs of anpples
(b} How much change will he raceiver

and peaxrs can he buy?
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43. A Stamp Club had 1 500 sets of sitamps for s

Al
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the 183 membexs in the club, 42 bought 15 set:

The rest of the maibers wanted to buay 10 3
How many sets of stamps was the ciub shoet

Answar:




44. Find the total area of the shaded parte.
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pupils who liked bubble tea also liked $
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In fanuvary, the ratic of Ahmadts s
savings was 7 :+ 3. In February,

increased ky $5% while Ahmad’s saviugs decrezsad by
$37. As & raesult, poth of chem had equal anounts of

savings. ~

{(a) How much more cavings did dhmad have chan Peta)
in Januvary?

(b)Y  How nuch savings <did Abnrad have in Teoruary?
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